The Ammeter – simple electrical circuit problems 

If the current through the ammeter in the first circuit (Ao) with one cell and one bulb is 0.2 A calculate the expected currents in all the other ammeters assuming that all the cells and bulbs are identical.





Questions:

1. What will be the reading on ammeter 6 if bulb 8 blows?

2. What will be the reading on ammeter 7 if bulb 8 blows? 

3. What will be the reading on ammeter 9 if bulb 10 blows? 

4. What will be the reading on ammeter 10 if bulb 12 blows?

5. What will be the reading on ammeter 11 if bulb 13 blows?
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